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A.C. Machines
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |

Answer all Five questions from Group B, each question

carries 4 marks.
9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.

OR (3121a1)
What do you mean by an alternator? with the help
of neat and clean diagram explain the construction

of an alternator.

JAdd® 4 AT T I8 & 7
Ae—geR &3 @1 gerdar 4 y™&Ed e @
g1dc BT dufd &Y |

State and explain regulation of an alternator. A 24
pole 22000 volt 3-phase alternator are running at
300 rpm. If magnetic flux per pole is 5x102 wb
then find out the number of conductors in windings.

Assume wave 1S sinecurve.

Jda<d® @& A @ 9a dr SHal
AT &Y | Yo 22000 dice dvea yamads
300 g% Yfa fiFic wR 9e <&T1 @ ik 3ud 24
gd ¢ | afs g baad ufd ga 5x107
49X Bl dl FUSAHl d AADI DI AT A
I | w9 NS 6 dwr sar afea 2
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In an induction motor, if the air gap is
increased:

(a) Its speed will reduce

(b) Its power factor will reduce

(c) Its breakdown torque will reduce
(d) Its efficiency will improve

URVT Hlex § 3R Q3 A9 §¢ odl @
-

(31) SHSBT T T SR |

(@) sH&T e TS °9c TR |

(4) SUBT §F SIS <@ °c ST |
(?) sH®! <&ral 9 S|

The principal of operation of a 3-phase
induction motor is almost similar to that of :
(a) Transformer with a shorted secondary
(b) Synchronous motor

(c) Repulsion start induction motor

(d) Capacitor start induction motor

P.T.O
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GROUPC :
(vi)
Answer all Five Questions. 6 x5=30

g uig g & SR o

7. Define slip and synchronous speed of an Induction
motor. What is the value of slip when the motor is

stationary. 6 (i

ORUT HICY & OB dAT Jedidbiicld dard dl
gRHTST | 99 Aier Rer &t @ a1 sHa!
AXEHT BT AT FAT BIMT?

OR(37214)
(vii)
State and explain torque of an Induction motor.
Prove that the starting torque of an induction motor
is proportional to the square of the applied voltage.

U1 Hick & dagel &l qAd aAT IHBI
T & | Rig &Y o 9v07 Aler &1 yRfES

Il YJa diecdl & I ST FATUTAL
BT 2 1 (vii)

8. With neat and clean diagram state and explain
motor resistance method for starting slip ring
Induction motor. 6
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() 31

How many types of rotors are used in
alternator?

(a) Salient Pole types

(b) Projected pole type

(c) Smooth cylindrical type

(d) All of the above

gArad® # fhad YHR &1 Ay
qeR fear sirar 27

(@) q—~d gd YpR

@) S gd UdR

() faeT SaITeR YBR

(]) Suigq g+

In modern alternators, the rotating part is:
(a) Armature

(b) Field system

(c) Both (a) and (b)

(d) None of these

P.T.O
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Explain the armature is kept stationary in an

alternator.

Udh JAmadd H A o) & Rera «ai <@
SITdT 27 ARAT 3N |

OR (3721d)

Describe, why damper winding is provided in an

alternator?

Uh gdEade 3 STR GUsdd &I adl Aqedl
@1 STl 87 quid $Y |

Show that a synchronous motor has no net starting

torque.
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NT5027

x)

(xi)

(xi)

(xii)

7 1620502

il R #iex 7 e a7 B

3Mgfa @1 AT H1 W1 Ahdl 3

(31) Aed=Niex & g

@) S A gf&T Fara frefidiceiier @
sIRT

(W) arefier & gRI

(]) Swigd & & dIg T8

The torque developed in an induction motor
is nearly proportional to:

(@) v

(b)v

(©) v2

(d) None of these

OROT Hick H fasfya qorgel ar—
1

(31) v @1 |AIGUId! gar € |

(@) V &1 gurgurd ghar 2|

(&) V2&T AT aT 2 |

(]) 39 | @Is AL

The speed of a slip-ring three phase induction

motor can be controlled from the rotor side

by:

(a) Changing the number of poles

(b) Changing the supply frequency

(c) Changing the supply voltage

(d) Rheostatic control

P.T.O
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In a shaded pole motor, the rotating field is
developed by using:

(a) Salient poles

(b) A capacitor

(c) Shading coils

(d) Damper windings

U eSS UId Hiex 4, gu- drel &8
der far simar 8-

(31) 4= dldll &1 AIBR PR
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In an alternator, the armature reaction is
considered to be equivalent to a fictitious:
(a) Resistance

(b) Reactance

(c) Impedance

(d) Admittance

gydmad® # AR yfafsar &1 e
P gfoRie & waged dH
ST Adhdl 28—

(31) ufeRig @

@) Raaca @

) sy &

) vsfica &

A three phase synchronous motor is widely
used for:
(a) Power factor improvement
(b) Control of voltage at the end of a
transmission line
(c) High torque loads
(d) Both (a) and (b)
P.T.O
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